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Do not open this Test Booklet until you are asked to do so.

bl ijh{kk iqfLrdk dks rc rd uk [kksysa tc rd dgk u tk,A
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1. The OMR Answer Sheet is inside this Test Booklet. When
you are directed, open the top seal of Test Booklet, take
out the Answer Sheet and fill in the particulars carefully
with blue / black ball point pen only.

2. The test is of 120 minutes duration and consists of 150
objective type questions. Each question carry 2 marks for
correct answer.  Negative Marking : For every two wrong
answer, then marks for one right answer will be deducted

3. Use Black Ball Point Pen only for writing particulars on
this page and marking responses in the Answer Sheet.

4. Make sure that the Test Booklet No. and Series marked
by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet

6. The answers are to be recorded on the OMR Answer Sheet
only. Mark your responses carefully. No whitener/ eraser
/ Blade is allowed for changing answers.

7. After opening the Test Booklet, please immediately ensure
that no page or question is misprinted, torn or left blank.
If any discrepancy  is  found  in  test booklet,  show it  to
Invigilator and get it replaced with test booklet of same
series.

8. For any question if these is any discrepancy in Hindi or
English language of that particular question the English
version of that question will be considered as final.

9. Details of sections in Question Paper:

Name of the candidate (In Capitals)
ijh{kkFkhZ dk uke (cM+s v{kjksa esa)% ...................................................................................

Roll Number (vuqØekad)% In figures (vadks esa) ....................................................................................

In words (“kCnksa esa) ....................................................................................
Centre  of Examination
ijh{kk dsanz dk uke % ....................................................................................

Candidate  Signature Invigilators  Signature
ijh{kkFkhZ ds gLRkk{kj %.................................................... d{k vUrjh{kd ds gLRkk{kj %...........................................

1. vks- ,e- vkj- mÙkj i=d bl iz”u iqfLrdk ds vanj gSA tc
vkidks funsZf”kr fd;k tk, rks Åijh lhy dks [kksydj mÙkj
iqfLrdk dks ckgj fudky ysa vkSj mlesa fn, gq, fooj.k dks
dkys cky ikWbaV isu ls /;kuiwoZd HkjsaA

2. ijh{kk dh vof/k 120 feuV gS ,oa dqy 150 cgqfodYih; iz”u
gSaA izR;sd iz”u esa lgh mÙkj ds fy, 2 vad gSaA izR;sd 2 x+yr
mÙkj ds fy, 1 lgh mrj dk vad dkVk tk,xkA

3. bl i’̀B ij fooj.k vafdr djus ,oa mÙkj i= ij fu”kku
yxkus ds fy, dsoy dkys cky ikWbaV isu dk gh iz;ksx djsaA

4. ;g lqfuf”pr dj ysa fd vks- ,e- vkj- mÙkj i=d esa Hkjh x;h
ijh{kk iqfLrdk la[;k ,oa ijh{kk iqfLrdk lhjht+ ogh gS tks bl
ijh{kk iqfLrdk esa vafdr gSA

5. jQ (dPpk) dk;Z ijh{kk iqfLrdk es nh xbZ [kkyh txg ij gh
djsaA

6. lHkh mÙkj dsoy vks- ,e- vkj- mÙkj i= ij gh vafdr djsaA
vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq
OgkbVuj@jcM+@CysM dk iz;ksx fuf’k) gSA

7. ijh{kk iqfLrdk [kksyus ds rqjar ckn tk¡p djds ns[k ysa fd
ijh{kk iqfLrdk esa dksbZ fcuk Nik] QVk ;k NwVk gqvk i`’B ;k
iz”u ugha gSA ;fn ijh{kk iqfLrdk esa dksbZ deh gks rks d{k
vUrjh{kd dks fn[kkdj mlh lhjht+ dh nwljh ijh{kk iqfLrdk
izkIr dj ysaA

8. fdlh Hkh ,sls iz”u ds fy, ftles fganh vFkok vaxzsth vuqokn
esa folaxfr gks rks vaxzsth Hkk’kk esa fn;k gqvk iz”u gh ekU;
gksxkA

9. iz”u i= esa vuqHkkxksa dk fooj.k %
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Q1 ‘AMENDMENT’ ds fy, lVhd fgUnh

vuqokn gS%

(A) “kks/ku

(B) la”kks/ku

(C) iz”kks/ku

(D) lek”kks/ku

Q2 ^lwjlkxj^ ds jpf;rk dkSu gSa\

(A) fon~;kifr

(B) t;nso

(C) rqylhnkl

(D) lwjnkl

Q3 fuEu esa jhfrdky dk dfo dkSu gS\

(A) t;”kadj izlkn

(B) lw;ZdkUr f=ikBh fujkyk

(C) fcgkjh

(D) lqfe=kuanu iar

Q4 ^mlus dgk Fkk^ dgkuh ds ys[kd gS%

(A) fd”kksjhyky xksLokeh

(B) panz/kj “kekZ xqysjh

(C) izsepUn

(D) Hkxoku nkl

HINDI KNOWLEDGE & WRITING ABILITY / fganh ifjKku ,oa ys[ku ;ksX;rk

Q5 ^moZ”kh^ fdldk dkO; gS\

(A) t;”kadj izlkn

(B) eSfFkyh”kj.k xqIr

(C) jke/kkjh flag fnudj

(D) egknsoh oekZ

PSG1 uhps fn;s x, xn~;ka”k dks i<+dj iwNs x;s

iz”uksa ds mRrj nhft,A vius fiz; tuksa ls

jfgr jkT; fdl dke dk\ I;kjh equ’;&tkfr

dk lq[k gh txr ds eaxy dk ewy lk/ku gSA

fcuk mlds lq[k ds vU; lkjs mik; fu’Qy

gSaA /ku dh iwtk ls ,s”o;Z] rst] cy vkSj

ijkØe ugha izkIr gksus dkA pSrU; vkRek dh

iwtk ls gh ;s inkFkZ izkIr gksrs gSaA pSrU;&iwtk

gh ls euq’; dk dY;k.k gks ldrk gSA lekt

dk ikyu djusokyh nw/k dh /kkjk tc euq’;

ds izsee; ân;] fu’diV eu vkSj fe=rkiw.kZ

us=ksa ls fudydj cgrh gS rc ogh txr esa

lq[k ds [ksrksa dks gjk&Hkjk vkSj izQqfYyr

djrh gS vkSj ogh muesa Qy Hkh yxkrh gSA

Q6 fdlls jfgr jkT; fdl dke dk\

(A) Hknz tuksa ls

(B) Js’B tuksa ls

(C) fiz; tuksa ls

(D) f”kf{kr tuksa ls
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Q7 ^txr^ dk vFkZ gS %

(A) lekt

(B) lalkj

(C) ns”k

(D) izns”k

Q8 ^fu’Qy^ dk vk”k; gS%

(A) v/kwjk

(B) Qynk;h

(C) lkFkZd

(D) O;FkZ

Q9 ^lq[k ds [ksrksa dks gjk&Hkjk vkSj izQqfYYr^

djus dk vFkZ gS%

(A) thou dks lq[ke; cukuk

(B) thou dks nq[ke; cukuk

(C) [ksrksa dh flapkbZ djuk

(D) thou dks ladV esa Mkyuk

Q10 fuEu esa nh?kZ Loj gS%

(A) b

(B) bZ

(C) ,

(D) ,s

Q11 fuEu esa vUrLFk O;atu dkSu lk gS\

(A) x

(B) t

(C) o

(D) l

Q12 fuEu esa vYiizk.k O;atu dkSu lk gS\

(A) [k

(B) x

(C) ?k

(D) B

Q13 fuEu esa ?kks’k o.kZ dkSu lk gS\

(A) t

(B) d

(C) p

(D) V

Q14 fuEu esa vks’B~; o.kZ dkSu lk gS\

(A) v

(B) vk

(C) b

(D) m
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Q15 fuEu esa ;kSx:<+ “kCn gS%

(A) ihyk

(B) tyt

(C) ij

(D) nw/kokyk

Q16 ^egksRlo^ dk laf/k foPNsn gksxk%

(A) eg $ mRlo

(B) efg $ mRlo

(C) egk $ mRlo

(D) egh $ mRlo

Q17 ^cSyxkM+h^ esa lekl gS%

(A) n~oan~o

(B) n~foxq

(C) vO;;hHkko

(D) rRiq#’k

Q18 ^vkxeu^ esa milxZ gS %

(A) vk

(B) v

(C) vkx

(D) eu

Q19 ^jlksb;k^ esa izR;; gS%

(A) ;k

(B) b;k

(C) vk

(D) jl

Q20 fuEu esa dkSu lk “kCn rRle gS\

(A) {ks=

(B) x/kk

(C) xk;

(D) ?kj

Q21 fuEu esa dkSu lk “kCn röo gS\

(A) ;kSou

(B) fu>Zj

(C) thHk

(D) LFkku

Q22 fuEu esa dkSu lk “kCn ns”kt gS\

(A) xkscj

(B) ?kksM+k

(C) gYnh

(D) dVksjk
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Q23 fuEu esa dkSu lk “kCn fons”kh gS\

(A) fVdV

(B) e/;

(C) e;wj

(D) opu

Q24 fuEu esa laKk “kCn gS%

(A) gjk

(B) iryk

(C) lHkk

(D) xgjk

Q25 fuEu esa loZuke “kCn gS%

(A) uhan

(B) jksx

(C) lQkbZ

(D) dkSu

Q26 fuEu esa fo”ks’k.k “kCn gS%

(A) yM+diu

(B) mfpr

(C) dBksjrk

(D) ?kCkjkgV

Q27 fuEu esa izsj.kkFkZd fØ;k gS%

(A) mBuk

(B) peduk

(C) fxjkuk

(D) nsuk

Q28 fuEu esa vO;; gS%

(A) mRrj

(B) Bhd

(C) tkiku

(D) Ñ’.kk

Q29 ^i{kh^ dk i;kZ;okph gS%

(A) Hkw/kj

(B) ehu

(C) òUn

(D) fogx

Q30 ^tfVy^ dk foykse gksxk%

(A) ljy

(B) dfBu

(C) dqfVy

(D) Vs<+k
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Q31 ^tks nsus ;ksX; gS^ ds fy, ,d “kCn gS%

(A) xs;

(B) ns;

(C) is;

(D) nku

Q32 ^fnu&nhu^ “kCn ;qXe dk lgh vFkZ gS%

(A) fnol&xjhc

(B) xjhc&fnol

(C) lqcg&xjhc

(D) nksigj&xjhc

Q33 fuEu esa dkSu lk “kCn vusdkFkZd gS\

(A) lkgl

(B) iqLrd

(C) vacj

(D) ckyd

Q34 fuEu esa orZuh dh ǹf’V ls “kq) “kCn gS%

(A) iqT;

(B) ifj{k.k

(C) izku

(D) ijh{kk

Q35 fuEu esa orZuh dh nf̀’V ls v”kq) “kCn gS %

(A) izknsf”kd

(B) ek/kq;Z

(C) O;kIr

(D) izekf.kd

Q36 fuEu esa vf/kdj.k dkjd dk ijlxZ dkSu lk

gS\

(A) ij

(B) us

(C) dks

(D) ls

Q37 fuEu esa iqfYyax “kCn dkSu lk gS\

(A) {kek

(B) ?kVuk

(C) {ks=

(D) jhfr

Q38 fuEu esa L=hfyax “kCn dkSu lk gS\

(A) nq[k

(B) xfjek

(C) ys[k

(D) Li”kZ
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Q39 fdldk iz;ksx lnSo cgqopu esa gksrk gS\

(A) n”kZu

(B) ukjh

(C) yrk

(D) xk;

Q40 fuEu esa Hkwrdky dk mnkgj.k gS%

(A) eSa tkrk gw¡A

(B) jke ?kj x;k FkkA

(C) og vk jgk gSA

(D) og iqLrd i<+sxkA

Q41 fuEu esa HkkookP; gS%

(A) eksgu iqLrd i<+rk gSA

(B) “;ke i= fy[krk gSA

(C) eksgu ls cSBk ugha tkrkA

(D) i= fy[kk tkrk gSA

Q42 fuEu esa dkSu lk okD; feJ okD; gS\

(A) fon~oku lc txg iwtk tkrk gSA

(B) vPNk yM+dk ekrk&firk dh vkKk ekurk

gSA

(C) og iqLrd jke dh FkhA

(D) tc losjk gqvk] rc ge yksx ckgj x,A

Q43 ^eSaus fon~;ky; tkuk gS^A okD; esa v”kq) va”k

gS%

(A) eSaus

(B) fon~;ky;

(C) tkuk

(D) gSA

Q44 iz”u fpºu dkSu lk gS\

(A) A

(B) \

(C) !

(D) ;

Q45 ^vkleku QV tkuk^ eqgkojs dk lgh vFkZ gS%

(A) vlHkao dke gksuk

(B) cgqr “kksj djuk

(C) pqxyh djuk

(D) vpkud vkQr vk iM+uk

Q46 ^Lokoyach gksus^ ds fy, lgh eqgkojk gS%

(A) ikS ckjg gksuk

(B) ikuh Qsj nssuk

(C) iSjkas ij [kM+k gksuk

(D) Q¡wd&Q¡wd dj iSj j[kuk
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Q47 ^cks;s isM+ ccwy ds vke dgk¡ ls gks;^ yksdksfDr

dk lgh vFkZ gS%

(A) deZ ds vuqlkj Qy ugha feyrk

(B) tSlk deZ djksxs oSlk Qy feysxk

(C) deZ vkSj Qy dk dksbZ laca/k ugha

(D) deZ djks] Qy dh bPNk er djks

Q48 ^ykHk gh ykHk^ vFkZ ds fy, lgh yksdksfDr gS%

(A) ik¡pksa m¡xfy;k¡ ?kh esa

(B) ik¡pksa m¡xfy;k¡ cjkcj ugha gksrh

(C) usdh dj vkSj dq,¡ esa Mky

(D) usdh vkSj iwN&iwN

Q49 ewyikB dk O;k[;k ds lkFk vuqokn dgykrk

gS%

(A) “kCnkuqokn

(B) Hkkokuqokn

(C) lkjkuqokn

(D) O;k[;kuqokn

Q50 ^czt^ fgUnh dh fdl miHkk’kk ds varxZr gS\

(A) igkM+h fgUnh

(B) iwohZ fgUnh

(C) if”peh fgUnh

(D) jktLFkkuh fgUnh
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Q51 fp= (A) vkSj (B) ds chp ds laca/kksa dks

ns[kdj fn, x, fp= dks mi;qDr fodYi ds

lkFk cnysa\

(A) 1

(B) 2

(C) 3

(D) 5

Q52 fuEu vkÑfr;ksa ds chp vyx vkÑfr dk

p;u djsaA

(A) A

(B) B

(C) C

(D) D

Q53 fuEu vkadM+ksa ds chp vyx&vyx vkadM+s
dk p;u djsaA

(A) A

(B) B

(C) C

(D) E

Q51 Replace the ? in the given figure with a

suitable option from the following figure

by  observing  the  relationship  between

figures (A) and (B).

(A) 1

(B) 2

(C) 3

(D) 5

Q52 Select the figure that is different among

the following figures.

(A) A

(B) B

(C) C

(D) D

Q53 Select the figure that is different among

the following figures.

(A) A

(B) B

(C) C

(D) E

GENERAL INTELLIGENCE TEST / lkekU; cqf) ijh{k.k
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Q54 Fill in the blank with the correct option

to complete the series.

ALBC, CLDC, ______, GLHC

(A) OLPC

(B) ELFC

(C) LLMC

(D) KLLC

Q55 Fill in the blank with the correct option

to complete the series.

AZA, BWD, CRI, DKP, ______.

(A) ECX

(B) EYB

(C) EBY

(D) EXC

Q56 Select the option that is related to the third

term in the same way as the second term

is related to the first term.

MAGIC : BHFZL : : CABIN : ______

(A) MAHBZ

(B) MHABZ

(C) MAHZB

(D) MHAZB

Q57 In a certain code language, if pink is called

white, white is called yellow, yellow is

called red, red is called green, green is

called black, black  is  called violet  and

violet is called orange, then what would

be the colour of human blood?

(A) Red

(B) Green

(C) Yellow

(D) Orange

Q54 J̀a[kyk dks iwjk djus ds fy, lgh fodYi ls

fjDr LFkku dks HkjsaA

ALBC, CLDC, ______, GLHC

(A) OLPC

(B) ELFC

(C) LLMC

(D) KLLC

Q55 J̀a[kyk dks iwjk djus ds fy, lgh fodYi ls

fjDr LFkku dks HkjsaA

AZA, BWD, CRI, DKP, ______.

(A) ECX

(B) EYB

(C) EBY

(D) EXC

Q56 ml fodYi dk p;u djsa tks rhljs in ls

Bhd mlh rjg lacaf/kr gS ftl izdkj nwljk

in igys in ls lacaf/kr gSA

MAGIC : BHFZL : : CABIN : ______

(A) MAHBZ

(B) MHABZ

(C) MAHZB

(D) MHAZB

Q57 ,d fuf”pr dksM Hkk’kk esa] ;fn xqykch dks

lQsn dgk tkrk gS] lQsn dks ihyk dgk

tkrk gS] ihys dks yky dgk tkrk gS] yky

dks gjk dgk tkrk gS] gjs dks dkyk dgk

tkrk gS] dkys dks cSaxuh dgk tkrk gS vkSj

cSaxuh dks ukjaxh dgk tkrk gS] rks ekuo jDr

dk fdl jax dk gksxk\

(A) yky

(B) gjk

(C) ihyk

(D) ukjaxh

www.prepp.in

https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp


12 SET-FGP-6

Q58 Read the given information and answer

the question that follows.

‘P ` Q’ means ‘P is the mother of Q’;

‘P $ Q’ means ‘P is the husband of Q’;

‘P # Q’ means ‘P is the sister of Q’;

‘P ~ Q’ means ‘P is the son of Q’.

X ~ H ̀  D $ Y represents what relation of

Y with H?

(A) Mother

(B) Father

(C) Father-in-law

(D) Daughter-in-law

Q59 In a joint family, there are father, mother,

3  married  sons  and  one  unmarried

daughter.  Of  the  sons,  two  have  2

daughters each and one has a son. Find

the  ratio  of  the  total  number of  female

members  to  the  total  number  of  male

members in the family:

(A) 5 : 9

(B) 9 : 5

(C) 8 : 5

(D) 5 : 8

Q60 Two  statements  are  followed  by  two

conclusions. Assume  the  facts  in  the

statements to be true and decide which of

the  conclusions  follow(s)  from  the

statements.

Statements:

1. Some papers are books

2. All books are notes.

Conclusions:

I. No paper is a note

II. Some notes are papers

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusions I and II follow

(D) Neither conclusion I, nor II, follows

Q58 nh xbZ tkudkjh dks /;kuiwoZd i<+sa vkSj iz”uksa

ds mRrj nsaA
‘P ` Q’ dk vFkZ ‘P, Q dh ek¡ gŜ ;
‘P $ Q’ dk vFkZ ‘P, Q dk ifr gS’;
‘P # Q’ dk vFkZ ‘P, Q dh cgu gS’;
‘P ~ Q’ dk vFkZ ‘P, Q dk iq= gS’.
X ~ H ` D $ Y esa Y dk H ds lkFk D;k
laca/k gS\
(A) ek¡
(B) firk
(C) llqj
(D) cgq

Q59 ,d la;qDr ifjokj esa] firk] ek¡] rhu fookfgr
iq= vkSj ,d vfookfgr iq=h gSA iq=ksa esa nks
ds nks&nks iqf=;ka gSa] vkSj ,d ds ,d iq= gSSA
ifjokj dh efgyk lnL;ksa dh dqy la[;k
vkSj ifjokj ds iq#’k lnL;ksa dh dqy la[;k
dk vuqikr Kkr dhft,A
(A) 5 : 9

(B) 9 : 5

(C) 8 : 5

(D) 5 : 8

Q60 nks dFkuksa ds ckn nks fu’d’kZ fn;s x;s gSaA
dFkuksa esa fn;s x;s rF;ksa dks lgh ekusa vkSj
fu.kZ; ysa fd dkSu ls fu’d’kZ dFkuksa dk
vuqlj.k djrk@djrs gSaA

dFku %
1- dqN isij iqLrds gSaA
2- lHkh iqLrdsa uksV~l gSaA

fu’d’kZ %
I. dksbZ isij ,d uksV ugha gSA
II. dqN uksV isij gSaA
(A) dsoy fu’d’kZ I vuqlj.k djrk gSA
(B) dsoy fu’d’kZ II vuqlj.k djrk gSA
(C) fu’d’kZ I rFkk II nksuksa vuqlj.k djrs

gSA
(D) u rks fu’d’kZ I vkSj u gh fu’d’kZ II

vuqlj.k djrs gSA
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Q61 Letters of a word have been jumbled up

and numbered. Choose the option which

gives  the  correct  order  of  the  letters  as

indicated  by  the  numbers  to  form  the

word.

I, A, D, O, H, E, N, S

1 2 3 4 5 6 7 8

(A) 3, 2, 5, 6, 8, 1, 4, 7

(B) 2, 3, 5, 6, 4, 8, 1, 7

(C) 2, 3, 5, 6, 8, 1, 4, 7

(D) 2, 3, 5, 6, 8, 4, 1, 7

Q62 How  many  pairs  of  letters  in  the  word

‘NIGHTMARE’  have  as  many  letters

between them in the word as in the English

alphabet? 

(A) 1

(B) 2

(C) 3

(D) 5

Q63 In  the  following  question,  a  statement,

followed by two arguments numbered 1

and 2, are given. You have to decide which

of  the  arguments  is/are  ‘strong’  with

respect to the statement.

Statement: 

To fulfill the energy requirements, India

should make efforts to make use of solar

energy.

Arguments:

I. Yes, the energy produced in India is

mainly exhaustible.

II. No. To set up solar energy plants, it

will requires a lot of capital, which

India lacks.

(A) Either I or II is strong

(B) Neither I nor II is strong

(C) Only argument I is strong

(D) Only argument II is strong

Q61 ,d “kCn ds v{kjksa dks vO;ofLFkr fd;k x;k

gS vkSj muds fy, vad fn;s x;s gSaA ml
fodYi dks pqusa] tks “kCn dk fuekZ.k djus
okyh la[;kvksa n~okjk of.kZr v{kjksa dk lgh
Øe iznku djrk gSA
I, A, D, O, H, E, N, S

1 2 3 4 5 6 7 8

(A) 3, 2, 5, 6, 8, 1, 4, 7

(B) 2, 3, 5, 6, 4, 8, 1, 7

(C) 2, 3, 5, 6, 8, 1, 4, 7

(D) 2, 3, 5, 6, 8, 4, 1, 7

Q62 ‘NIGHTMARE’ “kCn esa mu v{kjksa dh la[;k
Kkr dhft, ftuds chp mrus gh v{kj gSa
ftrus vaxzsth o.kZekyk esa muds chp gSaA
(A) 1

(B) 2

(C) 3

(D) 5

Q63 fuEufyf[kr iz”u esa] ,d dFku ds ckn nks
rdZ 1 vkSj 2 fn, x, gSaA vkidks ;g r;
djuk gksxk fd dFku ds laca/k esa dkSu ls
rdZ etcwr gSaA

dFku %
ÅtkZ dh vko”;drkvksa dks iwjk djus ds
fy,] Hkkjr dks lkSj ÅtkZ dk mi;ksx djus
dk iz;kl djuk pkfg,A

rdZ %
I. gka] Hkkjr esa mRikfnr ÅtkZ eq[;r% lhfer

gSA
II. ugha] lkSj ÅtkZ laa;a= LFkkfir djus ds

fy, cgqr cM+h iwath dh vko”;drk
gksxh] ftldh Hkkjr esa deh gSA

(A) rdZ I ;k rdZ II etcwr gS
(B) u rks I vkSj u gh II etcwr gS
(C) dsoy rdZ I etcwr gS
(D) dsoy rdZ II etcwr gS
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Q64 Study the following information carefully

and answer the question given below.
A software company has decided to recruit
engineers. The following criteria is to be
applied. 
A candidate must:
(i) be an engineering graduate with at

least 75% marks in graduation and
80% marks in HSC.

(ii) have work experience of minimum 2
years.

(iii) be ready to sign a bond of three years.
(iv) not be more than 28 years and not

less than 21 years as on 1.2.2017.
However, if  the candidate fulfils all  the
above criteria except:
(a) (i), but has obtained 50% in

graduation and 70% in HSC and has
at least three years work experience,
the case may be referred to the
Director.

(b) (iii), but is willing to pay an amount
of `1 lakh if he is required to leave,
the case may be referred to the
President.

(c) (ii), but is a computer engineer, the
case is to be referred to the DGM.

In  the  question  below,  details  of  a
candidate are given. You have to take one
of  the  courses  of  action  listed  in  the
options based on the information provided
and  the  conditions  and  sub-conditions
given  above.  The  reference  date  is
1.2.2017.  You  are  NOT  to  assume
anything  other  than  the  information
provided in the question.
Divya is an Mechanical Engineer and has
been working as an Assistant Engineer for
the past  one year. She had  scored 82%
and 87% marks in graduation and HSC
respectively. She has just completed 25
years of age.
(A) The candidate is to be selected.
(B) The case is to be referred to the

President.
(C) The case is to be referred to the

Director.

(D) The candidate is not to be selected.

Q64 fuEufyf[kr tkudkjh dks /;kuiwoZd i<+sa vkSj
blds uhps fn;s x;s iz”uksa ds mRrj nsaA
,d lkW¶Vos;j daiuh us bathfu;jksa dh HkrhZ
dk QSlyk fd;k gSA
fuEufyf[kr ekunaM ykxw fd;s x;s gSaA
,d vH;FkhZ %
(i) bathfu;fjax Lukrd esa de ls de 75%

vadks vkSj ,p-,l-lh- esa 80% vadks ds
lkFk mRrh.kZ gksuk pkfg,A

(ii) de ls de 2 o’kksZa dk dk;Z vuqHko gksuk
pkfg,A

(iii) rhu o’kZ ds ckWUM ij gLrk{kj djus ds
fy, rS;kj gksuk pkfg,A

(v) 1-2-2017 dks vk;q 28 o’kZ ls vf/kd vkSj
21 o’kZ ls de ugha gksuh pkfg,A

gkykafd] ;fn mEehnokj fuEufyf[kr dks
NksM+dj mi;qZDr lHkh ekunaMksa dks iwjk djrk
gSa%
(a) (i), ysfdu Lukrd es 50% vkSj ,p-

,l-lh- esa 70% izkIr fd;s gSa vkSj de
ls de rhu o’kZ dk dk;Z vuqHko gS] rks
bls ekeys dks funs”kd dks lanfHkZr fd;k
tk ldrk gSA

(b) (iii), ysfdu ukSdjh le;kof/k ls igys
NksM+us ij ̀  1 yk[k dh jkf”k dk Hkqxrku
djus dks rS;kj gS] ekeyk v/;{k dks
lanfHkZr fd;k tk ldrk gSA

(c) (ii), ysfdu ,d daI;wVj bathfu;j gS]
ekeyk Mh-th-,e- dks lanfHkZr fd;k tk
ldrk gSA

uhps fn, x, iz”u esa] mEehnokj dk fooj.k
fn;k x;k gSA vkidks iznku nh xbZ tkudkjh
vkSj mijksDr “krksZa o mi&”krksaZ ds vk/kkj ij
fodYiksa esa lwphc) dkjokbZ esa ls ,d djuh
gksxhA lanHkZ fnukad 1-2-2017 gSA vkidks
iz”u esa nh xbZ tkudkjh ds vykok vU;
fdlh Hkh pht ij fopkj ugh djuk gSA
fnO;k ,d eSdsfudy bathfu;j gS vkSj fiNys
,d o’kZ ls ,d lgk;d bathfu;j ds :i esa
dke dj jgh gSA mlus Lukrd vkSj ,p-,l-
lh- esa Øe”k% 82%  vkSj 87% vad izkIr
fd;s FksA mlus vHkh 25 o’kZ dh mez iw.kZ dh
gSA
(A) mEehnokj dk p;u fd;k tkuk pkfg,
(B) mlds ekeys dks v/;{k ds ikl Hkstk

tkuk pkfg,
(C) mlds ekeys dks funs”kd ds ikl Hkstk

tkuk pkfg,
(D) mEehnokj dk p;u ugh fd;k tkuk

pkfg,
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Q65 Ashwini has five squares with different

patterns. However one of the squares is

not  like  the other  four. Choose  the odd

one.

(A) 1

(B) 2

(C) 4

(D) 5

Q66

Observe the above graph which gives the

information of the results of grade X and

XI of a particular school over the years.

In which year did both the grades perform

the best in that school?

(A) 2008-09

(B) 2009-10

(C) 2005-06

(D) 2007-08

Q65 vf”ouh ds ikl fofHkUu iSVuZ okys ikap oxZ

gSaA gkykafd bu oxksZa esa ls ,d vU; pkj dh

Hkk¡fr leku ugha gSA ml fo’ke oxZ dk p;u

dhft,A

(A) 1

(B) 2

(C) 4

(D) 5

Q66

mi;ZDqr xzkQ dk fujh{k.k djsa tks fiNys

dqN o’kksZa ds fy, ,d fon~;ky; ds d{kk X

vkSj XI ds ifj.kkeksa dh tkudkjh nsrk gSA

fdl o’kZa esa nksuksa d{kkvksa us ml fon~;ky; esa

loZJs’B izn”kZu fd;k Fkk\

(A) 2008-09

(B) 2009-10

(C) 2005-06

(D) 2007-08
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Q67 Which number would come next in the

following sequence?

12, 33, 96, 285, 852, ______

(A) 2355

(B) 2553

(C) 2535

(D) 5235

Q68 Which number would come next in the

following sequence?

4, 9, 26, 105, 524, ______

(A) 1345

(B) 3145

(C) 1354

(D) 3154

Q69 Which  term  would  come  next  in  the

following sequence?

B2, F8, J32, N128, ______

(A) R256

(B) R512

(C) R1024

(D) R1204

Q70 Which letter cluster would come next in

the following sequence?

BAC, CAB, DAE, EAD, ______

(A) GAF

(B) FAG

(C) AFG

(D) GFA

Q67 fuEufyf[kr vuqØe esa vxyh la[;k dkSu lh

gksxh\

12, 33, 96, 285, 852, ______

(A) 2355

(B) 2553

(C) 2535

(D) 5235

Q68 fuEufyf[kr vuqØe esa vxyh la[;k dkSu lh

gksxh\

4, 9, 26, 105, 524, ______

(A) 1345

(B) 3145

(C) 1354

(D) 3154

Q69 fuEufyf[kr vuqØe esa dkSu lk “kCn vxyk

gksxk\

B2, F8, J32, N128, ______

(A) R256

(B) R512

(C) R1024

(D) R1204

Q70 fuEufyf[kr vuqØe esa vxyk v{kj lewg

dkSu lk gksxk\

BAC, CAB, DAE, EAD, ______

(A) GAF

(B) FAG

(C) AFG

(D) GFA
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Q71 Study  the  following  alphanumeric

arrangement and answer the question the

follows.

@ 4 9 * 4 9 % 2 3 $ 2 1 5 7 ^ 9 3 5 = 8 5

2 5 6 D 1 8 5 ? 9 7 2 6 2 4 2 5 8 3 1 6 2 4

How  many  times  is  the  number  2

immediately followed by an odd number?

(A) 2

(B) 3

(C) 4

(D) 5

Q72 Study the following numeric arrangement

and answer the question that follows.

629 812 372 419 294 989 767

If 1 is subtracted from each odd digit and

1 is added to each even digit then which

of  the  following numbers  in  the  newly

formed  sequence  will  be  the  second

highest?

(A) 903

(B) 898

(C) 263

(D) 738

Q73 If ‘×’ stands for ‘addition’, ‘÷’ stands for

‘subtraction’,  ‘+’  stands  for

‘multiplication’  and  ‘–  ’  stands  for

‘division’, then

120 + 12 – 3 ÷ 4 × 2 – 2 + 1 = ?

(A) 477

(B) 447

(C) 747

(D) 774

Q71 fuEufyf[kr vYQkU;wesfjd Øe dk v/;;u

djsa vkSj fuEu iz”uksa dk mRrj nsaA

@ 4 9 * 4 9 % 2 3 $ 2 1 5 7 ^ 9 3 5 = 8 5

2 5 6 D 1 8 5 ? 9 7 2 6 2 4 2 5 8 3 1 6 2 4

la[;k 2 ds ckn ,d fo’ke la[;k fdruh ckj

vkrh gS\

(A) 2

(B) 3

(C) 4

(D) 5

Q72 fuEufyf[kr la[;kRed Øe dk v/;;u djsa

vkSj fuEu iz”uksa dk mRrj nsaA

629 812 372 419 294 989 767

;fn 1 izR;sd fo’ke vad ls ?kVk;k tkrk gS

vkSj 1 izR;sd le vad esa tksM+k tkrk gS rks

uo fufeZr vuqØe esa fuEu esa ls dkSu lk

uacj nwljk mPpre gksxk\

(A) 903

(B) 898

(C) 263

(D) 738

Q73 ;fn ‘×’ dk vFkZ ̂ ;ksx^] ÷ ̂ ^ dk vFkZ ̂ ?kVko^]

+  dk vFkZ ^^xq.kk vkSj ‘– ’ dk vFkZ ^Hkkx^ gS]

rks

120 + 12 – 3 ÷ 4 × 2 – 2 + 1 = ?

(A) 477

(B) 447

(C) 747

(D) 774
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Q74 Which  are  the  two  signs  to  be

interchanged  for  making  the  following

equation correct?

5 + 3 × 4 – 12 ÷ 2 = – 1

(A) + and –

(B) + and ×

(C) × and ÷

(D) + and ÷

Q75 Arrange the following words as per their

order in an English dictionary.

1. Respond

2. Revise

3. Remember

4. Repeat

5. Repeal

6. Regret

(A) 6, 3, 5, 4, 2, 1

(B) 6, 3, 5, 4, 1, 2

(C) 6, 3, 5, 1, 4, 2

(D) 6, 3, 4, 5, 1, 2

Q76 If in the word ‘TURBULENCE’, the first

letter is interchanged with the last letter,

the second letter is interchanged with the

ninth letter and so on, then which letter

would come after the letter B in the newly

formed word?

(A) L

(B) U

(C) R

(D) T

Q74 fuEufyf[kr lehdj.k dks lgh cukus ds fy,

nks ladsrksa dh vnyk&cnyh djuh iM+sxh\

5 + 3 × 4 – 12 ÷ 2 = – 1

(A) + vkSj –

(B) + vkSj ×

(C) × vkSj ÷

(D) + vkSj ÷

Q75 fuEufyf[kr “kCnksa dks vaxzsth “kCndks”k eas

muds Øe ds vuqlkj O;ofLFkr djsaA

1. Respond

2. Revise

3. Remember

4. Repeat

5. Repeal

6. Regret

(A) 6, 3, 5, 4, 2, 1

(B) 6, 3, 5, 4, 1, 2

(C) 6, 3, 5, 1, 4, 2

(D) 6, 3, 4, 5, 1, 2

Q76 ;fn ‘TURBULENCE’ “kCn esa] igyk ysVj

vafre ysVj ds lkFk cnyrk gS] nwljk ysVj

nloha ysVj ds lkFk cnyrk gS vkSj bR;kfn]

rc uo fufeZr “kCn esa ysVj B ds ckn dkSu

lk ysVj vk,xk\

(A) L

(B) U

(C) R

(D) T
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Q77 If in the word ‘VICTORYPLAN’, all the

consonants  are  first  arranged

alphabetically, and then all the vowels are

arranged alphabetically, which letter will

be  the second  to  the right of  the fourth

from the left?

(A) T

(B) R

(C) V

(D) Y

Q78 In a certain code language, the following

symbols represent the time in a clock as

follows:

% means either the hour hand or the

minute hand is at 2

+ means either the hour hand or the minute

hand is at 5

? means either the hour hand or the minute

hand is at 3

< means either the hour hand or the minute

hand is at 4

> means either the hour hand or the minute

hand is at 12

~ means either the hour hand or the minute

hand is at 8 

Note: If two symbols are given, then by

default, the first symbol is considered the

hour hand and second one is considered

as  the  minute  hand;  all  times  are

considered at PM. For example, <~ = 4 :

40 PM.

Train D that travels at a uniform speed of

10 m/s leaves Agra for Lucknow at %<

and train F travels to Agra from Lucknow

and  starts  the  journey  at  %~. Train  F

travels one-third  faster  than  train D. At

what time would both the trains meet each

other  if  the distance  between Agra  and

Lucknow is 138 km?

(A) <~

(B) +<

(C) <%

(D) +?

Q77 ;fn ‘VICTORYPLAN’  “kCn esa] lHkh
fLFkjkad dks igys o.kkZuqØe esa O;ofLFkr fd;k
tkrk gS] vkSj fQj lHkh Lojksa dks o.kkZuqØe esa
O;ofLFkr fd;k tkrk gS] rks dkSu lk B ck,a
las pkSFks ds nkbZa vksj nwljk gksxk\
(A) T

(B) R

(C) V

(D) Y

Q78 ,d fuf”pr dwVHkk’kk esa] fuEufyf[kr izrhd
?kM+h esa le; dk izfrfuf/kRo djrs gSa%
%  dk eryc gS ;k rks ?kaVs dh lqbZ ;k feuV
dh lqbZ 2 ij gS
+ dk eryc gS fd ?kaVs dh lqbZ ;k feuV dh
lqbZ 5 ij gS
? bldk eryc gS fd ;k rks ?kaVs dh lqbZ ;k
feuV dh lqbZ 3 ij gS
< dk eryc gS ;k rks ?kaVs dh lqbZ ;k feuV
dh lqbZ 4 ij gS
> dk eryc gS ;k rks ?kaVs dh lqbZ ;k feuV
dh lqbZ 12 ij gS
~ dk eryc gS fd ?kaVs dh lqbZ ;k feuV dh
lqbZ 8 ij gS
/;ku nsa% ;fn nks izrhd fn, tkrs gSa] rks
fM+QkWYV :i ls] igyk izrhd ?kaVs dk lqbZ
ekuk tkrk gS vkSj nwljs dks feuV dk lqbZ
ekuk tkrk gS; lHkh le; dks PM esa ekuk
tkrk gSA mnkgj.k ds fy,] <~ = 4 : 40

PMA
Vªsu D 10 m/s dh ,d leku xfr ls ;k=k
djrh gS] %< ij y[kuÅ ds fy, vkxjk ls
jokuk gksrh gS vkSj Vsªu F y[kuÅ ls vkxjk
;k=k djrh gS vkSj ;k=k ~%  ij “kq: djrh
gSA Vsªu F Vsªu D dh rqyuk esa ,d frgkbZ rst
;k=k djrk gSA vxj vkxjk vkSj y[kuÅ ds
chp dh nwjh 138  fdeh gS rks nksuksa Vsªusa ,d
nwljs ls dkSuls le; ij feysaxh\
(A) <~

(B) +<

(C) <%

(D) +?
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Q79 In a certain code language,

‘bad time to purchase’ is written as ‘hi bo

nj yz’;

‘invest money and efforts’ is written as ‘hi

ta ge mr’;

‘purchase bad stuff only’ is written as ‘yz

bo rd fp’; and

‘only energy and money’ is written as ‘ta

fp mr ux’.

What  is  the  code  for  ‘invest  efforts  to

energy’ in the given code language?

(A) hi bo mr fp

(B) ta nj yz rd

(C) ta fp ux nj

(D) ux ge nj hi

Q80 In a certain code, LONGER is written as

QDFMNK. How will TIGER be written

as in that code?

(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

Q81 Study the given information carefully and

answer the question that follows:

‘M + L’ means ‘L is son of M’

‘M × L’ means ‘L is father of M’

‘L % M’ means ‘L is son-in-law of M’

‘M – L’ means ‘L is wife of M’ 

‘L * M’ means ‘M is brother of L’

‘L # M’ means ‘M is the only sister of L’

Which two symbols will come in place of

the  question  marks  in  the  following

equation to show that E is the wife of X?

X % P – C ? D ? E

(A) × and +

(B) + and –

(C) + and #

(D) Either × and + or + and #

Q79 ,d fuf”pr dwVHkk’kk esa]

‘bad time to purchase’ dks ‘hi bo nj yz’ ds

:i esa fy[kk tkrk gS;

‘invest money and efforts’ dks  ‘hi  ta ge

mr’ ds :i esa fy[kk tkrk gS;

‘purchase bad stuff only’ dks ‘yz bo rd fp’

ds :i esa fy[kk tkrk gS; vkSj

‘only energy and money’ dks ‘ta fp mr ux’ds

:i esa fy[kk tkrk gSA

fn, x, dksM Hkk’kk esa ‘invest efforts  to

energy’ ds fy, dksM D;k gS\

(A) hi bo mr fp

(B) ta nj yz rd

(C) ta fp ux nj

(D) ux ge nj hi

Q80 ,d fuf”pr dk sM es a ] LONGER dks

QDFMNK ds :i esa fy[kk tkrk gSA ml

dksM esa TIGER dks dSls fy[kk tk,xk\

(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

Q81 nh xbZ tkudkjh dk /;kuiwoZd v/;;u djsa

vkSj fuEu iz”uksa dk mRrj nsaA

‘M + L’ dk vFkZ gS ‘L, M’ dk csVk gS^

‘M × L’ dk vFkZ gS ‘L, M’ dk firk gS

‘L % M’ dk vFkZ gS ‘L, M’dk nkekn gS^

‘M – L’ dk vFkZ gS ‘L, M’ dh iRuh gS

‘L * M’ dk vFkZ gS ‘M, L’ dk HkkbZ gS

‘L # M’ dk vFkZ gS ‘M, L’ dh ,dykSrh cgu

gS

fuEufyf[kr lehdj.k esa iz”u fpºuksa ds LFkku

ij dkSu ls nks izrhd vk,axs ;g fn[kkus ds

fy, fd E, X dh iRuh gS\

X % P – C ? D ? E

(A) × vkSj +

(B) + vkSj –

(C) + vkSj #

(D) ;k rks × vkSj + ;k + vkSj #
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Q82 Study the given information carefully and

answer the question that follows.

When Mandira Singh tops in her MBBS

course, she becomes the 7th member of

her family to join the Medical profession.

All other family members, namely Tanmay,

Neerja, Monnish, Sanchit, Ruchika and

Vinita, are working at Sawai Man Singh

Hospital as doctors, and Mandira Singh,

who  is  the  youngest  of  the  third

generation, is all set to join them. In this

family of three generations, there are two

pairs of couples and two pairs of brothers

and sisters. There are three Oncologists,

two  Dentists,  one  Physician  and  one

Neurologist in the family. No female in

the family is an Oncologist. Vinita is not a

Neurologist.  No  married  person  in  the

family is a Dentist. Tanmay is the son of

Neerja,  while  Sanchit  is  the  son  of

Monnish, whose wife is Vinita. Monnish

is an Oncologist. Monnish and Vinita are

the eldest couple in the family. Mandira

Singh  is  the daughter of Sanchit, while

Ruchika is the sister-in-law of Neerja.

Who among the following is a Physician?

(A) Mandira Singh

(B) Neerja

(C) Vinita

(D) Ruchika

Q82 nh xbZ tkudkjh dk /;kuiwodZ v/;;u djsa

vkSj fuEu iz”uksa dk mRrj nsaA

tc eafnjk flag vius ,echch,l dkslZ esa

VkWi fd;k] rks og esfMdy is”ks esa “kfey gksus

okyh vius ifjokj dh 7oha lnL; cu tkrh

gSA vU; lHkh ifjokj ds lnL;] vFkkZr~ rues]

uhjtk] eksuh”k] lafpV] #fpdk vkSj fouhrk]

lokbZ eku flag vLirky esa MkWDVj ds :i esa

dke dj jgs gSa] vkSj rhljh ih<+h ds lcls

de mez ds eafnjk flag] muls tqM+us ds fy,

rS;kj gSaA rhu ihf<+;ksa ds bl ifjokj esa] nks

;qxy tksM+h vkSj Hkkb;ksa vkSj cguksa ds nks

tksM+s gSaA ifjokj esa rhu vkWUdksykWftLV] nks

nar fpfdRld] ,d fpfdRld vkSj ,d

Luk;qfo”ks’kK ¼U;wjksykWftLV½ gSaA ifjokj esa

dksbZ efgyk ,d vksUdksykWftLV ugha gSA fouhrk

U;wjksykWftLV ugha gSA ifjokj esa dksbZ fookfgr

O;fDr ,d nar fpfdRld ugha gSA rue;

uhjtk dk iq= gS] tcfd ladhr eksuh”k dk

iq= gS] ftldh iRuh fouhrk gSA eksuh”k ,d

vkWUdksykWftLV gSA eksuh”k vkSj fouhrk ifjokj

esa lcls cM+s gSaA eafnjk flag lafpr dh csVh

gSa] tcfd #fpdk uhjtk dh uun @ tsBkuh

@ HkkHkh gSA

fuEufyf[kr esa ls dkSu ,d fpfdRld gS\

(A) eafnjk flag

(B) uhjtk

(C) fouhrk

(D) #fpdk
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Q83 Study the given information carefully and

answer the question that follows.

In the Kasam family of three generations,

there are eight members — A, B, C, D, E,

F, G and H. C is G’s daughter-in-law. E is

B’s only grandchild. D is one of E’s two

maternal uncles. G and D, one of whom

is male, are the children of B. F is the father

of D. H is G’s husband.

Which of the following statements is true?

(A) There are two males in the second

generation.

(B) A is the sister-in-law of H.

(C) There are equal number of males and

females in the family.

(D) C is the granddaughter-in-law of F.

Q84 The words in the given word-pair share a

certain relationship. Select the option in

which  the  word-pair  share  the  same

relationship.

Rat : Rodent

(A) Bee : Apiary

(B) Sailor : Ship

(C) Whale : Mammal

(D) Nomads : Horde

Q83 nh xbZ tkudkjh dk /;kuiwodZ v/;;u djsa

vkSj fuEu iz”uksa dk mRrj nsaA

rhu ihf<+;ksa ds dle ifjokj esa] vkB lnL;

gSa — A, B, C, D, E, F, G vkSj HA C, G dh

cwg gSA E, B dk ,dek= iksrk gSA D, E ds nks

ekek esa ls ,d gSA G vkSj D ftuesa ls ,d

iq#’k gS] B ds cPps gSa] F , D ds firk] H, G

ds ifr gSaA

fuEufyf[kr esa ls dkSu lk dFku lR; gSa\

(A) nwljh ih<+h esa nks iq#’k gSaA

(B) A, H dh uun@tsBkuh@HkkHkh gSA

(C) ifjokj esa iq#’kksa vkSj efgykvksa dh leku

la[;k gSA

(D) C, F ds iksrs dh iRuh@ukrs dh iRuh

gSA

Q84 fn, x, “kCn&;qXe esa “kCn ,d fuf”pr

laca/k lk>k djrs gSaA ml fodYi dk p;u

djsa ftlesa “kCn&tksM+h ,d gh fj”rs dks lk>k

djrh gSA

pwgk % Ñard

(A) e/kqeD[kh % e/kqef{kdky;

(B) ukfod % leqanzh tgkt

(C) Ogsy % lLru izk.kh

(D) catkjk % fxjksg
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Q85 Consider the given statements to be true

even if they seem to be at variance with

commonly known facts and decide which

of  the  given  conclusions  logically

follow(s) from the statements.

Statements:

1. Some rats are white.

2. Some white are pigs.

3. All pigs are blue.

4. No pig is a donkey.

5. All donkeys are tall.

Conclusion:

i. Some tall are not pigs.

ii. Some rats are pigs.

iii. All blue being donkeys is a possibility.

(A) Only i follows.

(B) Only i and ii follow.

(C) Only ii and iii follow.

(D) Only ii follows.

Q86 The production of Sugarcane by six states

in India in the year 2016 is given in the

following graph.

Which of the following states contributes

less  than  20  per  cent  to  the  total

Sugarcane production?

(A) Only GJ

(B) GJ and AP

(C) GJ, AP and TN

(D) GJ, MH, AP and MP

Q85 fn, x, c;kuksa ij fopkj djsa] Hkys gh os vke

rkSj ij Kkr rF;ksa ds lkFk fHkUurk esa gks vkSj

fu.kZ; ysa fd fn, x, fu’d’kksZa esa ls dkSu ls

fu’d’kZ rdZlaxr :i ls dFku dk ikyu

djrs gSaA

dFku %

1- dqN pwgsa lQsn gSaA

2- dqN lQsn lwvj gSaA

3- lHkh lwvj uhys gSaaA

4- dksbZ lqvj x/kk ugha gSA

5- lHkh x/ks yacs gSaA

fu’d’kZ %

i. dqN yacs lwvj ugha gSaA

ii. dqN pwgs lwvj gSaA

iii. lHkh uhys x/ks gksus dh laHkkouk gSA

(A) dsoy i gh ikyu djrk gSA

(B) dsoy i vkSj ii  ikyu djrk gSA

(C) dsoy ii vkSj iii  ikyu djrk gSA

(D) dsoy ii ikyu djrk gSA

Q86 o’kZ 2016 esa Hkkjr esa Ng jkT;ksa n~okjk xUuk

dk mRiknu fuEufyf[kr xzkQ esa fn;k x;k

gSA

fuEufyf[kr xUuk mRiknu esa fuEufyf[kr esa

ls dkSu lk jkT; 20 izfr”kr ls Hkh de

;ksxnku nsrk gS\

(A) dsoy GJ

(B) GJ vkSj AP

(C) GJ, AP vkSj TN

(D) GJ, MH, AP vkSj MP
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Q87 The  following  line  graph  depicts  the

percentage of the number of candidates

who qualified CAT examination out of the

total number of candidates who appeared

for  the  examination  from  Mithun

Institution over a period of 7 years from

1994 to 2000.

If the number of candidates who qualified

in 1998 was 21200, what was the number

of  candidates  who  appeared  in

1998?

(A) 32000

(B) 28500

(C) 26500

(D) 25000

Q87 fuEufyf[kr iafDr xzkQ 1994 ls 2000 rd 7

lky dh vof/k esa feFkqu baLVhV~;w”ku ls ijh{kk

ds fy, mifLFkr mEehnokjksa dh dqy la[;k

ls lh,Vh (CAT) ijh{kk mRrh.kZ djus okys

mEehnokjksa dh la[;k dk izfr”kr n”kkZrk gSA

;fn 1998 esa vgZrk izkIr ¼DokfyQkbM½

mEehnokjksa dh la[;k 21200 Fkh] rks 1998 esa

mifLFkr mEehnokjksa dh la[;k D;k Fkh\

(A) 32000

(B) 28500

(C) 26500

(D) 25000
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Q88 Exports  from  three  companies

(X, Y and Z) over the years (in ` crores)

are given the following line graph. Study

the graph  and answer  the question  that

follows.

For which of the following pairs of years

was the total exports from the three

companies combined equal?

(A) 1995 and 1998

(B) 1996 and 1998

(C) 1997 and 1998

(D) 1995 and 1996

Q89 Read the given question and decide which

of  the  following  statements  is/are

sufficient to answer the question.

Question:

What is Rohan’s rank in the class?

Statements:

I. Rohan’s rank is 24 less than Nandan’s

rank.

II. Archana’s rank is 38 more than

Rohan’s rank; Nandan’s rank is 10

less than Archana’s rank.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I or II is sufficient.

(D) Both statements I and II together are

not sufficient.

Q88 fiNys dqN o’kksZ esa ¼djksM+ #ih;ksa esa½ esa rhu

daifu;ksa ¼,Dl] okbZ vkSj tsM½ ds fu;kZr ds

fuEufyf[kr ykbu xzkQ fn, x, gSaA xzkQ

dk v/;;u djsa vkSj fuEu iz”u dk mRrj nsaA

fuEufyf[kr esa ls dkSuls lkyksa esa rhuksa daifu;ksa

n~okjk dqy fu;kZr dk ewY; ,dleku Fkk\

(A) 1995 vkSj 1998

(B) 1996 vkSj 1998

(C) 1997 vkSj 1998

(D) 1995 vkSj 1996

Q89 fn, x, iz”uksa dks i<+sa vkSj fu.kZ; yas fd

fuEufyf[kr esa ls dkSu lk dFku iz”u dk

mRrj nsus ds fy, i;kZIr gSA

iz”u %

d{kk esa jksgu dk jSad D;k gS\

dFku %

I. jksgu dk jSad uanu ds jSad ls 24 de

gSA

II. jksgu ds jSad ls vpZuk dk jSad 38 vkSj

vf/kd gS; uanu dk jSd vpZuk ds jSad ls

10 de gSA

(A) dsoy dFku I i;kZIr gSA

(B) dsoy dFku II i;kZIr gSA

(C) ;k rks dFku I ;k II i;kZIr gSA

(D) dFku I vkSj II  nksuksa lgha ugha gSaA
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Q90 Read the given question and decide which

of  the  following  statements  is/are

sufficient to answer the question.

Question:

Mittal has a building in Ayyappa Society,

Madhapur, which has five floors named

from  no.  1  to  5  in  such  a  way  that

lowermost floor is numbered as 1 and the

topmost  floor  is  numbered  as  5.  Five

members  live  at  different  floors of  the

building, namely Rama, Lina, Tina, Charu

and Anita, but not necessarily in the same

order. Also, these five work in different

companies, namely A, B, C, D and E. Tina

stays on floor no. 2 and works in company

D, and Charu stays on floor no. 5. Also,

the one who stays on floor no. 1 works in

company A. Then, who lives on floor no.

3  and  in  which  company  does  she/he

work? 

Statements:

I. Neither Lina nor Anita works in

company A.

II. One who lives on floor no. 3 works

in company C.

III. Anita does not work in company C.

(A) Statement I and II together are

sufficient.

(B) Any two statements together are

sufficient.

(C) Either statement I and II together or

statement II and III together are

sufficient.

(D) All the statements, I, II and III

together, are sufficient.

Q90 fn, x, iz”uksa dks i<+sa vkSj fu.kZ; yas fd

fuEufyf[kr esa ls dkSu lk dFku iz”u dk

mRrj nsus ds fy, i;kZIr gSA

iz”u %

feRry ds ikl v;Iik lkslkbVh] e/kkiqj esa

,d bekjr gS] ftlesa ikap eafty gSa tks 1 ls

5 uke ls gSaA bl rjg ls fuEure eafty dks

1 ds :i esa fxuk tkrk gS vkSj “kh’kZre

eafty dks 5 ds :i esa fxuk tkrk gSA bekjr

ds fofHkUu eafty esa ikap lnL; vFkkZr~ jke]

fyuk] Vhuk] pk: vkSj vuhrk jgrs gSa] ysfdu

,d gh Øe esa gSa t#jh ugha gSA lkFk gh]

fofHkUu daifu;ka] vFkkZr~ A, B, C, D vkSj E

gSA Vhuk eafty 2 esa jgrh gS vkSj daiuh D

esa dke djrh gS] vkSj pk: eafty 5 esa jgrh

gSA blds vykok] tks eafty la[;k 1 esa

jgrk gS og daiuh A esa dke djrk gSA vkSj]

tks eafty la[;k 3 esa jgrk gS og fdl

daiuh es dke djrk@djrh gS\

dFku %

I. u rks yhuk vkSj u gh vuhrk daiuh A

esa dke djrh gSA

II. tks O;fDr eafty la[;k 3 ij jgrha gSa

og daiuh C esa dke djrh gS

III. vfurk daiuh C esa dke ugha djrh gSA

(A) dFku I vkSj II  nksuksa lkFk esa i;kZIr gS

(B) dksbZ Hkh nks dFku lkFk esa i;kZIr gS

(C) ;k rks dFku I vkSj II ;k dFku II vkSj

III nksuksa lkFk esa i;kZIr gSaA

(D) lHkh dFku I, II, vkSj III lkFk es i;kZIr

gSaA
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Q91 Read the given question and decide which

of  the  following  statements  is/are

sufficient to answer the question.

Question:

There are five Oil Refining companies in

India,  namely  A,  B,  C,  D  and  E.

Production of which of these companies

is the highest? 

Statements:

I. Production of Company B is more

than that of Company A but not more

than that of Company E.

II. Production of Company C is more

than that of Company B but not as

much as that of Company D.

III. Production of Company E is not as

much as that of Company D.

(A) Statements I and II together are

sufficient.

(B) Any two statements together are

sufficient.

(C) Either statements I and II together

or statement III alone is sufficient.

(D) All the statements, I, II and III

together, are sufficient.

Q91 fn, x, iz”uksa dks i<+sa vkSj fu.kZ; yas fd

fuEufyf[kr esa ls dkSu lk dFku iz”u dk

mRrj nsus ds fy, i;kZIr gSA

iz”u %

Hkkjr esa ikap rsy fjQkbfuax daifu;ka gSa]

vFkkZr~ A, B, C, D vkSj E buesa ls dkSu lh

daiuh dk mRiknu lcls T;knk gS\

dFku %

I. diauh B dk mRiknu daiuh A dh rqyuk

esa vf/kd gS ysfdu daiuh E ds eqdkcys

T;knk ugha gSA

II. diauh C dk mRiknu daiuh B dh rqyuk

esa vf/kd gS ysfdu daiuh D ds ftruk

ugha gSA

III. diauh E dk mRiknu mruk ugha gS

ftruk daiuh D dk gSA

(A) dFku I vkSj II nksuksa lkFk esa i;kZIr gSaA

(B) dksbZ Hkh nks dFku lkFk esa i;kZIr gSaA

(C) ;k rks dFku I vkSj II ,d lkFk ;k

dsoy dFku III vdsyk i;kZIr gSaA

(D) lHkh dFku I, II, vkSj III lkFk es i;kZIr

gSaA
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Q92 Read  the  given  statement  and  the

following assumptions and decide which

of  the  assumptions  is  implicit  in  the

statement.

Statement:

The  government  decided  to  pay  a

compensation of  ` 5 lakhs to the family

members of those who were killed in the

boat  accident  in  the  Godavari  at

Pasuvullanka.

Assumptions:

I. Government treasury has enough

funds to fulfil the compensation

expenses.

II. The government can try to bring

down the incidents of boat accidents

in the future in that area.

(A) Only assumption I is implicit.

(B) Only assumption II is implicit.

(C) Either assumption I or II is implicit.

(D) Neither assumption I nor II is

implicit.

Q93 Consider the given statement to be true

and  decide  which  of  the  conclusions

logically follows from the statement.

Statement:

Use ‘Calvin Klein’ jeans. Nothing comes

between  me  and  my  Calvins.  — An

advertisement.

Conclusions:

I. Catchy slogans do not attract people.

II. People like dark shades of jeans.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Either conclusion I or II follows.

(D) Neither conclusion I nor II follows.

Q92 fn, x, dFku vkSj fuEufyf[kr ekU;rkvksa

dks i<+s vkSj fu.kZ; ysa fd dFku esa dkSu lh
/kkj.kk,a varfuZfgr gSaA

dFku %
ljdkj tks yksx i”kqoqYyadk ij xksnkojh esa
uko nq?kZVuk esa ekjs x, yksxksa ds ifjokjksa ds
lnL;ksa dks ` 5 yk[k #i, dk eqvkotk nsus
dk QSlyk fd;kA

/kkj.kk,a%
I. ljdkjh dks’kksa esa eqvkots ds [kpZ dks

iwjk djus ds fy, i;kZIr /kujkf”k gSA
II. ljdkj ml {ks= esa Hkfo’; esa uko

nq?kZVukvksa dh ?kVukvksa dks de djus
dh dksf”k”k dj ldrh gSA

(A) dsoy /kkj.kk I varfuZfgr gSA
(B) dsoy /kkj.kk II varfuZfgr gSA
(C) u rks /kkj.kk I ;k II varfuZfgr gSA
(D) u rks /kkj.kk I vkSj u gh II varfuZfgr

gSA

Q93 fn, x, lgh dFku ij fopkj djsa vkSj
fu.kZ; ysa fd dkSu ls fu’d’kZ rkfdZd :i ls
bu dFkuksa dk ikyu djrs gSaA

dFku %
^dSfYou Dyhu^ thal dk mi;ksx djsaA esjs
vkSj esjs dSfYou ds chp dqN Hkh ugha vkrk
gSA &foKkiuA

fu’d’kZ %
I. vkd’kZd ukjs ¼dSph Lyksxu½ yksxksa dks

vkdf’kZr ugha djrs gSaA
II. yksxks dks MkdZ “ksM okyk thal ilan

vkrk gSA
(A) dsoy fu’d’kZ I ikyu djrk gSA
(B) dsoy fu’d’kZ II ikyu djrk gSA
(C) ;k rks fu’d’kZ I ;k II ikyu djrk gSA
(D) u rks fu’d’kZ I vkSj u gh II ikyu djrk

gSA
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Q94 Read the given question and decide which

of the following arguments is/are strong.

Statement:

Should officers of nationalised banks be

transferred after 1 or 2 years?

Arguments:

I. Yes. They get friendly with local

people and are manipulated by them.

II. No. By the time their policies and

schemes start taking shape, they have

to leave.

III. No. This will create a lot of

administrative hassles and cause a lot

of inconvenience to the officers.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments II and III are strong.

(D) Only arguments I and III are strong.

Q95 Read the given question and decide which

of the following arguments is/are strong.

Statement:

Should all the indirect taxes in India be

combined into a single Goods and Services

Tax (GST)?

Arguments:

I. Yes. This will considerably simplify

the tax collection mechanism and the

cost of collecting tax will also reduce.

II. Yes. The manufacturers and traders

will be benefited by this, which in turn

will boost tax collection.

III. No. No other country has adopted

such a system.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments I and II are strong.

(D) Only argument III is strong.

Q94 fn, x, iz”u dks i<+s vkSj fu.kZ; ysa fd

fuEufyf[kr esa ls dkSu lk rdZ izHkko”kkyh
gSA

dFku %
D;k jk’Vªh;Ñr cSadksa ds vf/kdkfj;ksa dks 1 ;k
2 lky ckn LFkkukarfjr fd;k tkuk pkfg,\

rdZ %
I. gk¡A os LFkkuh; yksxksa ds lkFk ?kqy&fey

tkrs gSa vkSj muls pkykdh ls dke
fudkyk tk ldrk gSA

II. ughaA tc rd mudh uhfr;ka vkSj
;kstuk,a vkdkj ysus yxrh gSa] mUgsa
NksM+uk iM+rk gSA

III. ughaA ;g cgqr lkjh iz”kklfud ijs”kkuh
iSnk djsxk vkSj vf/kdkfj;ksa ds fy,
cgqr lh vlqfo/kk dk dkj.k cu tk,xkA

(A) dsoy rdZ I izHkko”kkyh gSA
(B) dsoy rdZ  II izHkko”kkyh gSA
(C) dsoy rdZ II vkSj III izHkko”kkyh gaSA
(D) dsoy rdZ I vkSj III izHkko”kkyh gaSA

Q95 fn, x, iz”u dks i<+sa vkSj fu.kZ; ysa fd
fuEufyf[kr esa ls dkSu lk rdZ izHkko”kkyh
gSA

dFku %
D;k Hkkjr esa lHkh vizR;{k djksa dks ,d
lkeku vkSj lsok dj (GST) esa tksM+k tkuk
pkfg,\
rdZ %
I. gk¡A ;g VSDl laxzg iz.kkyh dks dkQh

ljy cuk nsxk vkSj blls dj ,d=
djus dh ykxr Hkh de gks tk,xhA

II. gk¡A fuekZrkvksa vkSj O;kikfj;ksa dks blls
Qk;nk gksxk] tks cnys esa dj laxzg dks
c<+kok nsxkA

III. ughaA fdlh vU; ns”k us ,slh iz.kkyh
ugha viukbZ gSA

(A) dsoy rdZ I izHkko”kkyh gSA
(B) dsoy rdZ  II izHkko”kkyh gSA
(C) dsoy rdZ I vkSj II izHkko”kkyh gaSA

(D) dsoy rdZ III izHkko”kkyh gaSA
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Q96 Read the given information carefully and

answer the question that follows.

ABC  Society  has  kept  the  following

conditions for the allotment of flats in their

society. The applicant:

(i) Must produce domicile certificate of

the State

(ii) Must be earning for minimum of 5

years

(iii) Must be ready to pay the entire

amount in 5 years’ period

(iv) Must not be the owner or co-owner

(if spouse is owner) of another

residential accommodation in that

city

(v) Must not be less than 35 years of age

as on 31st December 2016

In case of an applicant who satisfies all

other criteria except:

A) (i) above, should be referred to the

President of Town Council

B) (ii) above, but is ready to provide

Aadhar card, should be referred to

the Vice-Chairman of the Committee

C) (iii) above, but is a freedom fighter

or an ex-serviceman or a first relation

of them, should be referred to a

member of the Committee

The last date for receipt of application was

31st December 2016. Conditions are to

be fulfilled as on 31st December 2016.

Based on  these criteria, decide whether

to allot flat or not in the following case,

given to you as on 1st January 2017.

Shami  is  planning  to purchase a  flat  in

ABC  Society.  He  is  the  son  of  an

industrialist and from another state who

has  set  his  factory  in  2000  and  has  a

domicile  certificate  of  the  state.  He  is

ready to pay the entire amount in 4 years

if required. He does not own a house in

that city but his wife owns a  flat  there.

His date of birth is 11th November 1970.

(A) Do not allot flat.

(B) Refer to the Chairman.

(C) Refer to the President.

(D) Allot flat.

Q96 nh xbZ tkudkjh dks /;ku ls i<+sa vkSj fuEu
iz”u dk mRrj nsaA
ABC lkslkbVh us viuh lkslkbVh esa ¶ySVksa
ds vkoaVu ds fy, fuEufyf[kr “krksZa dks j[kk
gS%
(i) vkosnd us jkT; ds fuokl dk izek.k

i= izLrqr djuk pkfg,
(ii) vkosnd de ls de 5 lky ls dekrk

gksuk pkfg,
(iii) vkosnu iwjh jkf”k dk Hkqxrku 5 lky

dh vof/k esa djus ds fy, rS;kj gksuk
pkfg,

(iv) vkosnd ml “kgj esa fdlh vU; vkoklh;
vkokl ds Lokeh ;k lg&ekfyd ¼;fn
ifr@iRuh Lokeh gSa½ ugha gksuk pkfg,

(v) vkosnd 31 fnlacj 2016 rd 35 o’kZ ls
de vk;q dk ugha gksuk pkfg,

vkosnd ds ekeys esa tks vU; lHkh ekunaMksa
dks iwjk djrk gS flok; blds fd %
A) (i) mijksDr] Vkmu dkmafly ds v/;{k

dks lanfHkZr fd;k tkuk pkfg,
B) (ii) mijksDr] ysfdu vk/kkj dkMZ iznku

djus ds fy, rS;kj gS] lfefr ds
mik/;{k dks lanfHkZr fd;k tkuk pkfg,

C) (iii) mi;ZqDr gS] ysfdu ,d Lora=rk
lsukuh ;k iwoZ lSfud ;k muds igys
laca/k gSa] lfefr ds ,d lnL; dks lanfHkZr
fd;k tkuk pkfg,

vkosnu dh izkfIr dh vafre frfFk 31 fnlacj
2016 FkhA 31 fnlacj 2016 dks “krksZa dks iwjk
fd;k tkuk gSA bu ekunaMksa ds vk/kkj ij]
fu.kZ; ysa fd vkidks 1 tuojh 2017 dks nh
x, fuEufyf[kr ekeys esa ¶ySV vkoafVr djuk
gS ;k ughaA
“kkeh ABC lkslkbVh esa ,d ¶ySV [kjhnus dh
;kstuk cuk jgk gSA og ,d mn~;ksxifr vkSj
nwljs jkT; ls gSa ftUgksaus 2000 esa viuk
dkj[kkuk LFkkfir fd;k gS vkSj mlds ikl
jkT; dk fuokl izek.k i= gSA ;fn vko”;d
gks rks og 4 lky esa iwjh jkf”k dk Hkqxrku
djus ds fy, rS;kj gSA mlds ikl ml “kgj
esa dksbZ ?kj ugha gS ysfdu mldh iRuh ds
ikl ,d ¶ySV gSA mudh tUe frfFk 11
uoacj 1970 gSA
(A) ¶ySV vkoafVr er djksA
(B) ps;jeSu dk lanHkZ nsaA
(C) izsflMsaV dk lanHkZ nsaA
(D) ¶yVS vkoafVr djsaA
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Q97 The given figure is embedded in one of

the following options. Select that option:

(A)

(B)

(C)

(D)

Q98 The given  figure  (x)  has  some  specific
symbols. Choose the option in which the

same symbols are found:

(A)

(B)

(C)

(D)

Q97 nh xbZ vkÑfr fuEu fodYiksa esa ls ,d esa

,EcsMsM gSA bl fodYi dk p;u djsaA

(A)

(B)

(C)

(D)

Q98 fn, x, vkadMs+ ¼x½ esa dqN fof”k’V izrhd gSaA
og fodYi pqusa ftlesa ,d gh izrhd ik,

tkrs gSaA

(A)

(B)

(C)

(D)
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Q99 Kapil and Dharma are playing with two

dice in a club and they have rolled them

on  the  floor  as  given  in  the  following

figure. If x represents the number of dots

on the faces opposite to that containing

four dots, then find the value of x:

(A) 2

(B) 3

(C) 6

(D) 1

Q100 Replace the ? in the given figure with a

suitable option from the following figure

by  observing  the  relationship  between

figures (A) and (B).

(A) 1

(B) 2

(C) 3

(D) 4

Q99 dfiy vkSj /kekZ Dyc esa nks iklk ds lkFk

[ksy jgs gSa vkSj mUgksaus iklk dks fuEufyf[kr

fp=ksa ds vuqlkj Q”kZ ij ?kqek;k gSA ;fn x

pkj fcanqvksa ds foijhr Nksj ij ekStwnfcanqvksa

dh la[;k dk izfrfuf/kRo djrk gS] rks x dk

eku Kkr djsaA

(A) 2

(B) 3

(C) 6

(D) 1

Q100 fp= (A) vkSj (B) ds chp ds laca/kksa dks

ns[kdj fn, x, fp= dks mi;qDr fodYi ds

lkFk cnysa\

(A) 1

(B) 2

(C) 3

(D) 4
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Q101 When is World Tiger Day celebrated?

(A) 21 April

(B) 23 May

(C) 18 June

(D) 29 July

Q102 Where was India’s first Global Mobility

Summit held?

(A) New Delhi

(B) Pune

(C) Lucknow

(D) Mumbai

Q103 Which among the following governments

launched the Suryashakti Kisan Yojana?

(A) Madhya Pradesh

(B) Maharashtra

(C) Gujarat

(D) Odisha

Q104 The  7-Star  Gram  Panchayat  Rainbow

Scheme launched by the Government of

Haryana  to  give  star  rankings  to  its

panchayats is based on how many social

parameters?

(A) 9

(B) 7

(C) 5

(D) 3

Q101 fo”o ck?k fnol ¼oYMZ Vkbxj Ms½ dc euk;k

tkrk gS\

(A) 21 vizSy dks

(B) 23 ebZ dks

(C) 18 twu dks

(D) 29 tqykbZ dks

Q102 Hkkjr dk igyk oSf”od xfr”khyrk f”k[kj

lEesyu ¼Xykscy eksfcfyVh lfeV½ dgka

vk;ksftr fd;k x;k Fkk\

(A) ubZ fnYyh

(B) iq.ks

(C) y[kuÅ

(D) eqacbZ

Q103 fuEufyf[kr ljdkjksa esa ls fdl us lw;Z”kfDr

fdlku ;kstuk dk izkjaHk fd;k gS\

(A) e/; izns”k

(B) egkjk’Vª

(C) xqtjkr

(D) vksfM”kk

Q104 gfj;k.kk ljdkj n~okjk vius iapk;rksa dks

LVkj jSaafdax nsus ds fy, “kq: dh xbZ 7&flrkjk

xzke iapk;r banz/kuq’k ;kstuk fdrus lkekftd

ekudksa ij vk/kkfjr gS\

(A) 9

(B) 7

(C) 5

(D) 3

GENERAL KNOWLEDGE / lkekU; tkudkjh
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Q105 The  Telangana  Police  has  launched

_______ mobile application to support the

professional  communication  and

collaboration needs of  the  entire police

department of the state.

(A) People Connect

(B) Crime Connect

(C) Law Connect

(D) COP Connect

Q106 Which among the following has recently

been declared as the state fruit of Tripura?

(A) Queen Pineapple

(B) King Orange

(C) Prince Mango

(D) Queen Litchi

Q107 What is the full form of NABARD?

(A) National Agricultural Bank for Agro

and Rural Development

(B) National Bank for Agriculture and

Rural Development

(C) National Bank for Asset and Rural

Development

(D) New Bank for Agriculture and Rural

Development

Q105 rsyaxkuk iqfyl us jkT; ds iwjs iqfyl foHkkx

ds O;kolkf;d lapkj vkSj lg;ksx dh t:jrksa

dk leFkZu djus ds fy, ______ eksckby

,fIyds”ku ykWUp fd;k gSA

(A) ihiy dusDV

(B) Økbe dusDV

(C) ykW dusDV

(D) lh-vks-ih- dusDV

Q106 gky gh esa fuEufyf[kr esa ls fdldks f=iqjk

dk jkT;Qy ?kksf’kr fd;k x;k gS\

(A) Dohu vukul

(B) fdax vkWjsat

(C) fizal vke

(D) Dohu fyph

Q107 ukckMZ (NABARD) dk foLr̀r :i D;k gS\

(A) us”kuy ,xzhdYpjy cSad QkWj ,xzks ,aM

#jy MsoyiesaV

(B) us”kuy cSad QkWj ,xzhdYpj ,aM #jy

MsoyiesaV

(C) us”kuy cSad QkWj ,lsV ,aM #jy

MsoyiesaV

(D) U;w cSad QkWj ,xzhdYpj ,aM #jy

MsoyiesaV
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Q108 Which among the following nations is the

largest tractor market in the world?

(A) Brazil

(B) USA

(C) Russia

(D) India

Q109 The 13th edition of ‘Annapoorna – World

of    Food  India’  is  scheduled  to  be

organised during 27-29 September 2018

in:

(A) Mumbai

(B) Delhi

(C) Bhopal

(D) Patna

Q110 Which of the following nations was the

world’s  largest  producer  of  milk  in

2017-18?

(A) Germany

(B) India

(C) Australia

(D) South Africa

Q108 fuEufyf[kr ns”kksa es ls dkSu lk nqfu;k dk

lcls  cM+k VSªDVj cktkj gS\

(A) czkft+y

(B) vesjhdk

(C) :l

(D) Hkkjr

Q109 27&29 flracj 2018 ds nkSjku ^vUuiw.kkZ &

oYMZ vkWQ QwM bafM;k^ ds 13os laLdj.k dk

vk;kstu fdl “kgj esa fd;k tk;sxk\

(A) eaqcbZ

(B) fnYyh

(C) Hkksiky

(D) iVuk

Q110 2017&18 ds nkSjku fuEufyf[kr esa ls dkSu

lk ns”k nqfu;k dk lcls cM+k nw/k mRiknd

Fkk\

(A) teZuh

(B) Hkkjr

(C) vkWLVsªfy;k

(D) nf{k.k v �Ýhdk
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Q111 Which of the following is an example of a

Primary Storage Device?

(A) Hard Disk

(B) Random Access Memory

(C) Magnetic Tape

(D) Optical Disc

Q112 Which of the following is a Programming

Software?

(A) Disk Cleanup

(B) Windows

(C) Disk Defragmenter

(D) Visual Basic

Q113 In terms of computers, the set of ways in

which an adversary can enter a system and

can potentially cause damage is called:

(A) Attack Surface

(B) Attack Signature

(C) Attack Pattern

(D) Attack Path

Q114 The  use of  mathematical  techniques  to

provide  security  services,  such  as

confidentiality,  data  integrity,  entity

authentication  and  data  origin

authentication, is called:

(A) Cryptology

(B) Cryptography

(C) Cryptographic Algorithm

(D) Cryptanalysis

Q111 fuEufyf[kr esa ls dkSu ,d izkbejh LVksjst

fMokbt gS\

(A) gkMZ fbLd

(B) jSaMe ,Dlsl eseksjh

(C) eSXusfVd Vsi

(D) vkWfIVdy fMLd

Q112 fuEu esa ls dkSu ,d izksxzkfeax lkW¶Vos;j gS\

(A) fMLd Dyhuvi

(B) foaMkst

(C) fMLd MsÝkXesaVj

(D) folqvy csfld

Q113 daI;wVj ds lanHkZ esa ftl rjhds ls dksbZ

fojks/kh flLVe esa izos”k dj ldrk gS vkSj

laHkkfor :i ls {kfr dk dkj.k cu ldrk gS

mls D;k dgrs gSa\

(A) geyk lrg@vVSd ljQsl

(B) geyk gLRkk{kj@vVSd flXuspj

(C) geyk iSVuZ@vVSd iSVuZ

(D) geyk iFk@vVSd ikFk

Q114 lqj{kk lsokvksa tSls xksiuh;rk] MsVk v[kaMrk]

bdkbZ izek.khdj.k vkSj MsVk ewy izek.khdj.k

iznku djus ds fy, xf.krh; rduhdksa dk

mi;ksx D;k dgk tkrk gS\

(A) fØIVksyksth

(B) fØIVksxzkQh

(C) fØIVksxzkfQd ,Yxksfjne

(D) fØIV,ukfyfll
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Q115 What is the percentage of land used for

agriculture in Uttar Pradesh?

(A) 56.7

(B) 60.7

(C) 64.7

(D) 68.7

Q116 Which is the shortest Kaanda (chapter) of

Ramcharitmanas?

(A) Aranya Kaanda

(B) Kishkindha Kaanda

(C) Sundar Kaanda

(D) Lanka Kaanda

Q117 What is the rank of Uttar Pradesh among

Indian states in terms of the quantity of

potato production?

(A) First

(B) Second

(C) Third

(D) Fourth

Q118 In which district of Uttar Pradesh is the

Kichhauchha Dargah Sharif located?

(A) Sant Kabir Nagar

(B) Mirzapur

(C) Ambedkar Nagar

(D) Sultanpur

Q115 mRrj izns”k esa Ñf’k ds fy, iz;qDr Hkwfe dk

izfr”kr D;k gS\

(A) 56.7

(B) 60.7

(C) 64.7

(D) 68.7

Q116 jkepfj=ekul dk dkSu lk dk.M ¼v/;k;½

lcls NksVk gS\

(A) vj.; dk.M

(B) fdf’dU/kk dk.M

(C) lqUnj dk.M

(D) yadk dk.M

Q117 vkyw ds mRiknu esa Hkkjr esa mRrj izns”k dk

LFkku D;k gS\

(A) igyk

(B) nwljk

(C) rhljk

(D) pkSFkk

Q118 mRrj izns”k ds fdl thys esas fdNkSNk njxkg

“kjhQ fLFkr gS\

(A) lar dchj uxj

(B) fet+kZiqj

(C) vkacsMdj uxj

(D) lqYrkuiqj
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Q119 With  which  musical  instrument  is  the

noted musician Mrs. N. Rajam associated?

(A) Sitar

(B) Violin

(C) Tanpura

(D) Flute

Q120 In which year  is  the next Ardh Kumbh

Mela scheduled to be held in Allahabad?

(A) 2019

(B) 2020

(C) 2021

(D) 2022

Q121 On  which  occasion  are  the  Sohar  folk

songs sung?

(A) Childbirth

(B) Namakarana (giving a name)

(C) Mundan (cutting of hair)

(D) Marriage

Q122 Which of the following places is famous

for Lathmar Holi?

(A) Vrindavan

(B) Govardhan

(C) Barsana

(D) Gokul

Q119 Jherh ,u- jkte dk lEcU/k fuEufyf[kr esa

ls fdl ,d okn~; ;a= ls gS\

(A) flrkj

(B) ok;fyu

(C) rkuiqjk

(D) ckalqjh

Q120 bykgkckn esa fdl o’kZ vxys v/kZ dqEHk dk

vk;kstu fd;k tkuk gS\

(A) 2019

(B) 2020

(C) 2021

(D) 2022

Q121 fuEufyf[kr esa ls fdl volj ij lksgj

yksdxhr dk xk;u fd;k tkrk gS\

(A) cPps ds tUe ij

(B) ukekadj.k

(C) eaqMu

(D) fookg

Q122 yBekj gksyh ds fy, fuEu esa ls dkSu lk

LFkku izfl) gS\

(A) òUnkou

(B) xkso/kZu

(C) cjluk

(D) xksdqy
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Q123 Who is the author of ‘Mitti Ki Baarat’, a

collection of poems?

(A) Jaishankar Prasad

(B) Shivmangal Singh Suman

(C) Mahadevi Verma

(D) Maithilisharan Gupt

Q124 In  which  of  the  following  cities  is  the

Central  Footwear  Training  Institute

located?

(A) Kanpur

(B) Lucknow

(C) Agra

(D) Noida

Q125 Which district of Uttar Pradesh has  the

highest population as per Census 2011?

(A) Allahabad

(B) Agra

(C) Moradabad

(D) Ghaziabad

Q126 What  was  the  land  donated  to  Jaina

institutions  called  as  per  Chola

inscriptions?

(A) Vellanvagai

(B) Shalabhoga

(C) Pallichchhandam

(D) Brahmadeya

Q123 ^^feêh dh ckjkr^^ uked dfork laxzg ds

ys[kd dkSu gSa\

(A) t;”kadj izlkn

(B) f”koeaxy flag lqeu

(C) egknsoh oekZ

(D) eSfFkyh”kj.k xqIr

Q124 fuEufyf[kr esa ls fdl “kgj esa lsaVªy QqVfo;j

Vsªfuax bafLVV~;wV fLFkr gS\

(A) dkuiqj

(B) y[kuÅ

(C) vkxjk

(D) ukW,Mk

Q125 2011 dh tux.kuk ds vuqlkj mRrj izns”k

ds fdl ftys dh tula[;k lokZf/kd gS\

(A) bykgkckn

(B) vkxjk

(C) eksjknkckn

(D) xkft+;kckn

Q126 pksy vfHkys[kksa ds vuqlkj tSu lHkkvksa dks

nku esa fn, tkus okys Hkwfe dks D;k dgk

tkrk Fkk\

(A) osYykUoxkbZ

(B) “kkykHkksxk

(C) iYyhPNkUne

(D) czºens;k
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Q127 Which ruler founded the Tughlaq dynasty

in India?

(A) Firuz Shah Tughlaq

(B) Ghiyas-ud-din Tughlaq

(C) Alauddin Sikander Shah

(D) Muhammad bin Tughlaq

Q128 Which of the following kings died as a

result of falling down from the stairs of

his library?

(A) Jahangir

(B) Shah Jahan

(C) Babur

(D) Humayun

Q129 Which Mughal emperor got the famous

‘Peacock Throne’ built and placed in the

Lal Qila in Delhi?

(A) Shah Jahan

(B) Jahangir

(C) Akbar

(D) Bahadur Shah I

Q130 Why is Bodh Gaya an important Buddhist

pilgrimage centre?

(A) Because Gautam Buddha was born

here

(B) Because Gautam Buddha attained

enlightenment here

(C) Because Gautam Buddha preached

his first sermon here after attaining

enlightenment

(D) Because Gautam Buddha attained

parinirvana here

Q127 fdl “kkld us Hkkjr esa rqxyd oa”k dh uhao

j[kh Fkh\

(A) fQ+jkst+ “kkg rqxyd

(B) X;klh&mÌhu rqxyd

(C) vykmÌhu fldanj “kkg

(D) eqgEen fcu rqxyd

Q128 fuEu esa ls fdl “kkld dh eR̀;q mlds

iqLrdky; dh lhf<+;ksa ls fxjdj gqbZ Fkh\

(A) tgk¡xhj

(B) “kkgtgk¡

(C) ckcj

(D) gqek;w¡

Q129 fo”oizfl) eksj flagklu dk fuekZ.k vkSj mldh

yky fdys esa LFkkiuk fuEu esa ls fdl eqx+y

“kkld us dh Fkh\

(A) “kkgtgk¡

(B) tgk¡xhj

(C) vdcj

(D) cgknqj”kkg I

Q130 cks/k x;k ,d egRoiw.kZ ckS) rhFkZ dsanz D;ksa

gS\

(A) D;ksafd xkSre cq) ;gka iSnk gq, Fks

(B) D;ksafd xkSre cq) us ;gka Kku izkIr

fd;k Fkk

(C) D;ksafd xkSrd cq) us Kku izkIr djus ds

ckn ;gka viuk igyk mins”k fn;k Fkk

(D) D;ksafd xkSre cq) us ;gka fuokZ.k izkIr

fd;k Fkk
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Q131 Which of the following sessions of Indian

National Congress was presided over by

Mahatma Gandhi?

(A) 1922; Gaya

(B) 1923; Delhi

(C) 1924; Belgaum

(D) 1925; Kanpur

Q132 Which prime minister of Great Britain had

announced the Communal Award in 1932

during the Indian Freedom Movement?

(A) Stanley Baldwin

(B) Neville Chamberlain

(C) Sir Winston Churchill

(D) James Ramsay MacDonald

Q133 In which city did freedom fighter Chandra

Shekhar Azad  shoot  himself  on  being

besieged by the British Police?

(A) Bhopal

(B) Allahabad

(C) Kanpur

(D) Jabalpur

Q134 Which of the following rivers ends in the

Arabian Sea?

(A) Narmada

(B) Godavari

(C) Krishna

(D) Kaveri

Q131 egkRek xka/kh us Hkkjrh; jk’Vªh; dkaxzsl ds

fuEufyf[kr l=ksa esa ls fdldh v/;{krk dh

Fkh\

(A) 1922; x;k

(B) 1923; fnYyh

(C) 1924; csyxke

(D) 1925; dkuiqj

Q132 Hkkjrh; Lora=rk vkanksyu ds nkSjku 1932 esa

xszV fczVsu ds fdl iz/kku ea=h us lkaiznkf;d

iqjLdkj dh ?kks’k.k dh Fkh\

(A) LVsuyh ckYMfou

(B) usfoy psEcjysu

(C) lj foaLVu pfpZy

(D) tsEl jkels eSdMkWuYM~l

Q133 fuEu esa ls fdl “kgj esa Lora=rk lsukuh

panz”ks[kj vktkn us fczfV”k iqfyl n~okjk f?kj

tkus ij [kqn dks xksyh ekj yh Fkh\

(A) Hkksiky

(B) bykgkckn

(C) dkuiqj

(D) tcyiqj

Q134 fuEufyf[kr esa ls fdl unh dk lekxe

vjc lkxj esa gS\

(A) ueZnk

(B) xksnkojh

(C) Ñ’.kk

(D) dkosjh
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Q135 In  which  state  is  the  Bhadra  Wildlife

Sanctuary situated?

(A) Kerala

(B) Madhya Pradesh

(C) Karnataka

(D) Uttar Pradesh

Q136 Which  of  the  following  states  has  the

lowest density of population in India?

(A) Mizoram

(B) Sikkim

(C) Nagaland

(D) Arunachal Pradesh

Q137 In  which  country  does  Danube  river

originate?

(A) Hungary

(B) Germany

(C) Romania

(D) Austria

Q138 Which is the largest continent in terms of

area?

(A) North America

(B) South America

(C) Asia

(D) Africa

Q135 Hknzk oU;tho vHk;kj.; fdl jkT; esa fLFkr

gS\

(A) dsjy

(B) e/; izns”k

(C) dukZVd

(D) mRrj izns”k

Q136 fuEufyf[kr esa ls fdl jkT; esa Hkkjr esa

tula[;k dk ?kuRo lcls de gS\

(A) fetksje

(B) flfDde

(C) uxkySaM

(D) v#.kkpy izns”k

Q137 MsU;wc unh dk mn~xe fdl ns”k esa gS\

(A) gaxjh

(B) teZuh

(C) jksekfu;k

(D) vkWfLVª;k

Q138 {ks=Qy ds vk/kkj ij lcls cM+k egkn~ohi

fuEu esa ls dkSu lk gS\

(A) mRrj vesfjdk

(B) nf{k.k vesfjdk

(C) ,f”k;k

(D) vÝhdk
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Q139 On which river is the Chamera Dam built?

(A) Sutlej

(B) Ravi

(C) Beas

(D) Chenab

Q140 In  which  country  is  Galeras  Volcano

located?

(A) Colombia

(B) Mexico

(C) Italy

(D) Hawaii

Q141 In which state is the Thoseghar Waterfall

located?

(A) Maharashtra

(B) Karnataka

(C) Odisha

(D) Madhya Pradesh

Q142 What is the approximate percentage of the

total human population that lives in the

Northern Hemisphere?

(A) 60

(B) 70

(C) 80

(D) 90

Q139 pesjk cka/k fdl unh ij cuk;k x;k gS\

(A) lryqt

(B) jfo

(C) fc;kl

(D) fpukc

Q140 xSysjsl Tokykeq[kh fdl ns”k esa fLFkr gS\

(A) dksyfEc;k

(B) esfDldks

(C) bVyh

(D) gokbZ

Q141 Fkksls?kj okVjQkWy fdl jkT; esa fLFkr gS\

(A) egkjk’Vª

(B) dukZVd

(C) vksfM”kk

(D) e/; izns”k

Q142 iF̀oh ds mRrjh xksyk/kZ eas jgus okyh dqy

ekuo vkcknh dk vuqekfur izfr”kr D;k gS\

(A) 60

(B) 70

(C) 80

(D) 90
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Q143 Ram Nath Kovind is the ______ President

of India.

(A) 16th

(B) 14th

(C) 12th

(D) 11th

Q144 According  to  Article  243-I  of  the

Constitution  of  India,  a  Finance

Commission is constituted to review the

financial position of the Panchayats:

(A) at the expiration of every sixth year

(B) at the expiration of every fifth year

(C) at the expiration of every second year

(D) at the expiration of every third year

Q145 According to ______ of the Constitution

of India, the President has the power to

promulgate Ordinances.

(A) Article 123

(B) Article 121

(C) Article 125

(D) Article 127

Q146 The total number of nominated members

in the Rajya Sabha is:

(A) 17

(B) 19

(C) 15

(D) 12

Q143 Jh jke ukFk dksfoan Hkkjr ds ______jk’Vªifr

gSaA

(A) 16osa

(B) 14osa

(C) 12osa

(D) 11osa

Q144 Hkkjr ds lafo/kku ds vuqPNsn 243-I ds vuqlkj

iapk;rksa dh foRrh; fLFkfr dh leh{kk ds

fy, foRr vk;ksx dk xBu dc fd;k tkrk

gS\

(A) gj NBs o’kZ dh lekfIr ij

(B) gj ikaposa o’kZ dh lekfIr ij

(C) gj nwljs o’kZ dh lekfIr ij

(D) gj rhljs o’kZ dh lekfIr ij

Q145 Hkkjr ds lafo/kku ds______ ds vuqlkj

jk’Vªifr ds ikl v/;kns”k tkjh djus dh

“kfDr gSA

(A) vuqPNsn 123

(B) vuqPNsn 121

(C) vuqPNsn 125

(D) vuqPNsn 127

Q146 jkT;lHkk esa euksuhr lnL;ksa dh dqy la[;k

D;k gS\

(A) 17

(B) 19

(C) 15

(D) 12
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Q147 ________ has the power to prorogue the

Legislative Assembly.

(A) The Governor

(B) The Prime Minister

(C) The Vice-President

(D) The Chief Minister

Q148 Where  has  the  first  Mobile  Open

Exchange zone been inaugurated?

(A) Ahmedabad

(B) Gurgaon

(C) Chandigarh

(D) Noida

Q149 What was the rank occupied by India in

the  2018 AT  Kearney  FDI  Confidence

Index?

(A) 25th

(B) 11th

(C) 36th

(D) 74th

Q150 The  Union  Cabinet  has  approved  the

extension of the scheme of recapitalisation

of Regional Rural Banks  (RRBs) up  to

_______.

(A) 2020

(B) 2022

(C) 2025

(D) 2030

Q147 ______ dks fo/kku lHkk dk l=kolku djus

dh “kfDr gksrh gSA

(A) jkT;iky

(B) iz/kkuea=h

(C) mijk’Vªifr

(D) eq[;ea=h

Q148 izFke eksckby vksiu ,Dlpsat tksu dk

mn~?kkVu dgka fd;k x;k gS\

(A) vgenkckn

(B) xqMxk¡o

(C) paMhx<+

(D) uks,Mk

Q149 2018 ds ,-Vh dhuhZ ,Q-Mh-vkbZ- dkWfUQMsal

baMsDl eas Hkkjr dk LFkku D;k Fkk\

(A) 25oka

(B) 11oka

(C) 36oka

(D) 74oka

Q150 dsanzh; eaf=eaMy us {ks=h; xzkeh.k cSadksa

¼vkj-vkj-ch½ ds iquiZawthdj.k dh ;kstuk dks

______ rd foLrkj dh eatwjh ns nh gSA

(A) 2020

(B) 2022

(C) 2025

(D) 2030
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fuEufyf[kr funsZa”kksa dks /;ku ls i<+sa %Read the following Instructions carefully :

1. Out of  the  four alternatives for  each question, only

one  circle  for  the correct answer  is  to  be darkened

completely  with  Blue/Black  Ball  Point  Pen  on  the

OMR Answer Sheet. The answer once marked is not

liable to be changed

2. The candidates should ensure that the Answer Sheet

is not  folded. Do not make any  stray marks on  the

Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,

as  under  no  circumstances  (except  for  discrepancy

in Test Booklet), another set will be provided.

4. The  candidates will  write  the  correct Test  Booklet

Series as given in the Test Booklet in the Attendance

Sheet.

5. Each candidate must show on demand his / her Admit

Card to the Invigilator

6. No  candidate,  without  special  permission  of  the

Superintendent or Invigilator, should leave his / her

seat.

7. The candidates should not leave the Examination Hall

without  handing  over  their Answer  Sheet  to  the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not

to have handed over the Answer Sheet and dealt with

as an unfair means case.

8. Use  of  Pencil/Electronic/Manual  Calculator  is

prohibited.

9. The  candidates  are  governed  by  all  Rules  and

Regulations of the Commission with regard to their

conduct in the Examination Hall. All cases of unfair

means  will  be  dealt  with  as  per  Rules  and

Regulations of the Commission.

10.After  Examination  is  over,  candidate  has  to  return

his Answer Sheet to invigilator. Invigilator will hand

over  the  Candidate’s  copy  to  candidate,  then  only

candidate  is allowed  to  leave  the examination hall.

Candidate is only allowed to take  Candidate’s copy

of answer sheet.

11.Candidates are not allowed to take Test Booklet with

them They  have  to  submit  the Test  Booklet  to  the

invigilator after  the exam.

1. izR;sd iz”u ds fy, fn, x;s pkj fodYiksa esa ls
lgh mÙkj ds fy, vks- ,e- vkj- mÙkj i= ij
dsoy ,d xksys dks gh iwjh rjg dkys cky ikWbaV
isu ls HkjsaA ,d ckj mÙkj vafdr fd, tkus ds
ckn mls cnyk ugh tk ldrk gSA

2. ijh{kkFkhZ lqfuf”pr djsa dh mÙkj i= dks eksM+k u
tk, ,oa ml ij dksbZ vU; fu”kku u yxk,¡A
ijh{kkFkhZ viuk vuqØekad mÙkj i= es fu/kkZfjr
LFkku ds vfrfjDr vU;= u fy[ksaA

3. ijh{kk iqfLrdk ,oa mÙkj i= dk /;kuiwoZd iz;ksx
djsa] D;ksafd fdlh Hkh ifjfLFkfr esa (dsoy ijh{kk
iqfLrdk esa deh dks NksM+ dj) nwljh ijh{kk iqfLrdk
,oa mÙkj i= miyC/k ugh djk;k tk,xkA

4. ijh{kk iqfLrdk esa nh x;h ijh{kk iqfLrdk lhjht+
dks ijh{kkFkhZ lgh rjhds ls gkft+jh&i= es fy[ksaA

5. iwNs tkus ij izR;sd ijh{kkFkhZ] d{k vUrjh{kd dks
viuk izos”k i= fn[kk,A

6. v/kh{kd ;k d{k vUrjh{kd dh fo”ks’k vuqefr ds
fcuk dksbZ ijh{kkFkhZ viuk LFkku u NksM+sA

7. dk;Zjr d{k vUrjh{kd dks viuk mÙkj i= fn,
fcuk ijh{kkFkhZ viuk LFkku ugha NksMs+xsaA ;fn
fdlh ijh{kkFkhZ us gkft+jh&i= ij gLrk{kj ugha
fd, rks ;g ekuk tk,xk dh mlus mÙkj i= ugh
ykSVk;k gS vkSj ;g vuqfpr lk/ku dk ekeyk
ekuk tk,xkA

8. isfUly @bysDVªkWfud@gLrpkfyr ifjdyd dk
mi;ksx oftZr gSA

9. ijh{kk gkWy es vkpj.k ds fy, ijh{kkFkhZ vk;ksx
ds lHkh fu;eksa ,oa fofu;eksa }kjk fu;fer gSA
vuqfpr lk/kuksa ds lHkh ekeyksa dk Q+Slyk vk;ksx
ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA

10.ijh{kk ds mijkar vH;FkhZ mÙkj i=d d{k vUrjh{kd
dks ykSVk nsaA vUrjh{kd }kjk vH;FkhZ dks mÙkj
i=d dh vH;FkhZ izfr gLrxr djkbZ tk,xh rFkk
ftlds mijkar gh d{k dks NksM+us dh vuqefr nh
tk,xhA mÙkj i=d dh vH;FkhZ izfr vH;FkhZ dks
vius lkFk ys tkus dh vuqefr gSA

11.ijh{kk ds mijkar ijh{kkFkhZ dks ijh{kk iqfLrdk
d{k vUrjh{kd dks ykSVkuh gksxhA ijh{kk iqfLrdk
dks ijh{kkFkhZ vius lkFk ugha ys tk ldrsa gSaA
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